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An example similar to example 4.

Given 7 (1) = <s'111 (7t).cos (m‘),r) . Re-parametrize 7 (¢) by finding 7 =(s) as a function of s, starting

at the point 7(0)={0.1,0}. ) ><'9' 4_7,’7/ P
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1-6 Find the length of the curve.
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7-9 Find the length of the curve correct to four decimal places.
(Use a calculator to approximate the integral.)

Zorin)={5 000, 0=r1=2
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10. Graph the curve with parametric equations ¥ = sin f,
v = sin 2¢, z = sin 3¢, Find the total length of this curve
correct to four decimal places.
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13-14 (a) Find the arc length function for the curve measured
from the point # in the direction of increasing ¢ and then
reparametrize the curve with respect to arc length starting from
P, and (b) find the point 4 units along the curve (in the direction
of increasing ¢) from P,
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17-20
{a) Find the unit tangent and unit normal vectors Tir) and N(r).

(b) Use Formula 9 1o find the curvature,
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21-23 Use Theorem 10 to find the curvature.,
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47-48 Find the vectors T, N, and B at the given point,
a7 v = {300, (1.201)
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49-50 Find equations of the normal plane and osculating plane

of the curve at the given point. %
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